%" $& (C ) $CT800

1"# 3 %l&



2

3

4

5

10

13

15

! ! 18

! ! 19

! 20

21

# 23

$ % 25



H*,h+* ( —-++ 0t $ +

-& ! !
I I I / '
& !
! !
( 220-240
, L TH$% g YER (L %t (
#, %) . #*' &- #*&% .
. / 0 1 2 2
. 1 3 2 .
($ H& &  %'#, ( Al L -#S &t %( && ,&% &+
-, %S - #E &t % (-+ # C(H#& &' H%4&+ -, ( &+
) ! . %
) 50
! %
) L& |
) ! %
* ( .
$ ! % (
) (
(
)
)
) |
& ! .
% . ! !
| |
$ ! !
I I ( L&) %
I I I |
( .
!
(
. $ ! !
"10"121*#2 "OO0r" B)'#1 —
34 1* #'5%/) 1* &/))36 )#1$3, 6 J



6 % #& '%&(
(&l &

# &

$*P& +*/ (0$-+&

1% ( .%# $*

1 I
5
!
|
5
*
%
5
!
(
( & '%&
%

%

% +

%

(10%) %
' %

% |

40 120 )

& ) ! : L

% !

- H# &
% (

L0+

( ] )
%W &7&A&H

! %
! . 8
( :
S"%+ & (& ($  #&'&  %-#$ &+
#&" %% &7&4A&H () 6 %HEW), '& ) '
, # S# o R & %) ,
#OSH#( & )" v H,%
0 6 %H&Y%) "I - & # L%+ &+



H*,h+* ( —++

5 I
| | .3
%
5
! !
3 ( ( . !
) .
I I
5 :
' .0 SPIRIT !
) ' ! % 9
!
!
# %
0
1 * %
(
3* (.%W% $* +
! %
, %
( ) %
( .
- &
1. !
0 3
2.) % | L]
! !
' , ! ! I
% ) % . 0
%
% Stop/Pause



0O *p*x , 1& . ( +

05 1 @ @

#58 - 3/8" #59 - 3/8"
$ %  (6%.) %  (6%.)

@m Al [

#104 —3/8"x3-3/4"0 (6% .) #73 - M5 x 12
(4% )
05 2
#110 - M5 x 10 #73 - M5 x 12 #125 - M5 #112 - M5 x 30
(2% .) (1% .) ; - (1%.) (2%.)
05 3 :
#58 - 3/8" #59 - 3/8"
$ % (6% .) % (6% .)
#105 — 3/8” x 3/4” #108 — M8 x 12

0 (6% 0 (6%



*  ( —-++ (%

05 1: #&% ' #) %&
(19)
(A)(8T). 9 ./
| : | 3 N
( L&
3/8” x 3-3/4” (104), 3/8” %  (58) %
3/8” (59). ! : 21),
(104) % (58 59) '
3 (18 .
3 % (32 33 ( | M5 x 12
(73).




'&

%

05 20 #%

(G(86) C(lZO)),

)

(D(122) F(88),

(H)(121)

(73)

M5 x 12

(

(1

7

| M5 (125) .

%

M5 x 30

(

(5)

(36)

(110).

M5 x 10

(112)

> 2,

/A
, N rf\\\" //
A0\
N/
O



@ 4




#) %& .

%

%

05

4

(3
(108).

M8 x 12

%

(A)@87),

(

(C)(120)

" (

3/8” x

3/8” (59).

%

-3

%

3/8” (58)

%

3/4” (105),




% ( to4 )# &

<
#
I 9 (
I I % 3
I [ | |
|
! #(0 , & 4&! (" ). " #(!
! : & 4&
| ' ( I
) ( (
I |
I I

-10-



3'#* "H#
)
).
) %
0, /!
('# )/ Slow (("
3 9
& %
( )
&
3 35
), [ - | #'
!
&
* % #1"
)
!
% #1"
% :
)
)
L&
% ) %
0
&
%
* "615_ *
& |

%

%

%

Start

). 1

%

%

#1!!

1%

-11-

( (
( %  Fast
%
% Slow
.1
3 9
% #1"
#1"  (Stop). 8
.4 5 ,
, % #1/$1 (Start).
1 % ’
L x % #1"
(! ).
2 6, ' (
! 1!



! / 11 « »
! L& 24 (
! 1/24 (
* ! ( )
$ Il 3 01 # )
«& ». 1 I
# Il
) Il
. , I
% «& », ' 9 I !
! 4 . H# , (
% «&
1

0.4 %( #6%:

1 04 (1/4 ) Il O ( !
% : ' ' (
400 ).
8) %4&! ' #" 48 (
" (! L ( ) % !
! . &
! . , !
! .1
g !
! !
S5#7&% '#" #& (-
& ! ! ' %
. 9
| % |
% !
% ' 9 &*
" (
(
%+ & * "# 3%&
& ! ! (" ( ) ! 30
8 «# ( », !
, %
% ! , | ( !
L1 | | |

-12-

»



( "(500*, %/ * —++

0 SPIRIT :
1 ! 1
- [
L% &,)V%  #") * # #((
ll& !
%' ) #1/$1 !
! !
% n& ,
#(0 . ! ! «20 » # o (
% / "& :
(! : % # !
.1 !
% ' %
! !
% B
&' 4&! ! ' % ( %
Y ( ! ).
& % #' !
n % 1 /
1
1 % # !
' ! 3
%
#
&! Y%H'& & % #") # #((
! ' !
1 .) !
P1( 1,5+ ) 20.8 ! !
20% A
! ). *
0 n, 2 N ) 12
100% . ( : 10 /M.
1|2(3|4]|5]|6|7|8|9|10|121]12]|13[14|15[16]|17]|18]19]|20(21]|22]|23]24
= 20|30|40[50{60|60|70(70| 70 [ 80| 80| 70 | 80 | 80 [100{100| 70 | 80| 80| 70 | 70 | 80 [ 80 | 70| 60| 60|50 403020
olofofo|1]|2|3|3]|4a|3|3|4a|4a|5|3|3|4|3]|3|a]|a|5|4]3|[1]1]0 ofo
= 20|30|40([50{60|60|70[80|100(100|100|100|100|100{100(100]| 100|100 100|100|100{100{100| 8070 |60|50|40|30( 20
olofofo|x]|2|3|3]|3|4|5|3|3|4a|4a|3|3|2]2]|3|4a|5|6]4af[2]1]0 ofo
- 20|30|40[s0{60]|60|70(70|{ 70 80| 70| 70 | 80| 80 [ 60 [ 70| 80| 80| 70 | 70 | 70 [100| 70 | 80| 60| 60|50 40|30 ( 20
olofofofa|afaf2]2|3|2]|2]|3|3|s|2|3|3]|2]|2]|4|4|2]3|[1]1]0 ofo
= 20(30|40|50]|60|60(70|80]|100| 60 [ 60 | 70 | 80 |100] 60 | 70 [100[ 60 | 70 |200]| 60 | 70 | 80 [70{60|60|50[40|30]20
olofofo|1]|2|3|5]|6|2|3]|5]|6|7|2|3|7|2]|3|8|2]|3|5]|4[3]1]0 ofo
P1=; ( ; P2=%& & $&# ; P3= #'&-# #(( y P4= # ;

-13-




, %!

)
# $%

8

%
%

&' 4&!

%
5 %(.:

-# # ((

% .

%

-14-

%

%

%

3'#

%



8&

- ?
(7 !
! 85%
"&| #(! % #' % VO2 1 %'
1 0 1:00 | 45 n 0% 3115
2.1 1:15 45 n 2% 32.55
2.2 1:30 45 n 2% 33.6
2.3 1:45 45 n 2% 34.65
2.4 2:00 45 n 2% 35.35
3.1 2:15 5.0 n 2% 37.45
3.2 2:30 5.0 n 2% 39.55
3.3 2:45 5.0 n 2% 413
3.4 3:00 5.0 n 2% 434
4.1 3:15 5.0 n 4% 44.1
4.2 3:30 5.0 n 4% 45.15
43 3:45 5.0 n 4% 46.2
4.4 4:00 5.0 n 4% 465
5.1 4:15 5.5 n 4% 48.6
5.2 4:30 5.5 n 4% 50
5.3 4:45 5.5 n 4% 51.4
5.4 5:00 5.5 n 4% 52.8
6.1 5:15 5.5 n 6% 53.9
6.2 5:30 5.5 n 6% 54.9
6.3 5:45 5.5 n 6% 56
6.4 6:00 5.5 n 6% 57
7.1 6:15 6.0 n 6% 57.7
7.2 6:30 6.0 n 6% 58.8
7.3 6:45 6.0 n 6% 60.2
7.4 7:00 6.0 n 6% 61.2
8.1 7:15 6.0 n 8% 62.3
8.2 7:30 6.0 n 8% 63.3
8.3 7:45 6.0 n 8% 64
8.4 8:00 6.0 n 8% 65
9.1 8:15 6.5 n 8% 66.5
9.2 8:30 6.5 n 8% 68.2
9.3 8:45 6.5 n 8% 69
9.4 9:00 6.5 n 8% 70.7
10.1 9:15 6.5 n 10% 72.1
10.2 9:30 6.5 n 10% 73.1
10.3 9:45 6.5 n 10% 73.8
10.4 10:00 6.5 n 10% 74.9
11.1 10:15 7.0 n 10% 76.3
11.2 10:30 7.0 n 10% 77.7
11.3 10:45 7.0 n 10% 79.1
11.4 11:00 7.0 n 10% 80

-15-

At

Vo2



3 ! " % !
, % 35
)
& ! ,
##(&# & -# #(( 8& " -
1.) % Fit-test %
2. " ( %
% :
' (
3. & % ',
% ]
4. ) % # ! '
#( #:9" & '
) ! !
!
1 ! '
!
&
a. #(! % %
b. % '
c. & 4&! ' '
d %#' ' ! /!
e. < * ! %)9&*
(
' % &! '
! ! 1-3
% !

-16-

&I

4&!

%



4 %

VO2max &4 4% "1 (0%& &-#& _
18-25 | 26-35 | 36-45 | 46-55 | 56-65 65+
" >60 >56 >51 >45 >41 >37
5 % 52-60 | 49-56 | 43-51 | 39-45 | 36-41 | 33-37
%
47-51 | 43-48 | 39-42 | 35-38 | 32-35 | 29-32
# 42-46 | 40-42 | 35-38 | 32-35 | 30-31 | 26-28
)
37-41 | 35-39 | 31-34 | 29-31 | 26-29 | 22-25
: 30-36 | 30-34 | 26-30 | 25-28 | 22-25 | 20-21
"
' <30 <30 <26 <25 <22 <20
VO2max &4 4 % "l $9& &-#&
18-25 |26-35 |36-45 |46-55 |56-65 | 65+
" 56 52 45 40 37 32
5 % 47-56 | 45-52 | 38-45 | 34-40 | 32-37 | 28-32
%
42-46 | 39-44 | 34-37 | 31-33 | 2831 | 2527
# 38-41 | 35-38 | 31-33 | 28-30 | 2527 | 22-24
)
33-37 | 31-34 | 27-30 | 25-27 | 2224 | 19-22
' 28-32 | 26-30 | 22-26 | 20-24 | 1821 | 17-18
"
' <28 <26 <22 <20 <18 <17

-17-

$ 9&

0% &



%1%
#
|
%
4
%
| 1
220 %
(
|
%
|
&
! 1
,!
&

%( %5*,4 (+ O

(MHR)
%

%

%

% MHR).

80%

! ! (
190 TARGET HEART RATE
TRAINING CHART
180
m,
< 170 ax;,
% ""'fn
% 160 /?afe
2 150
1
o
g 140
£ 130
14
t 120
[}
T 110
100
90
20 25 30 35 40 45 50 55 60 65
o0000OQOOGOS I B B .
Weight Loss Cardiovascular Age of User
) 4
! !
I , !
! o (
L* %
60%, , % ,
% N
o ( !
! .8
|
HR-1 HR-2,

-18-




2.
3. $
!
4. $
5.
6. %
%
1 .
&( &
#$+
&' :
1&%)
1.
2.
3. )
4.
5. 3
6. |/
7. &

| [ % (
% I
! (
I I ). "
] .
! %
1% I 1
, ! !
! ). 1
| ! L&
- ] , %
;! ! . "
% 1 ) % ' !
(
/ ) — ! ! &
!
' % , , ) % !
o ' , |
L& ! % !
3 1.
! &- ) # S# "l(& #H& i #&( , '& 6%#
' & " . &% ( "%& L, "( # & )
&! H #&( ), + # () %+ L #( ()
V& HM( T # SH( #- o+l ;
!
% °
1 ! I! !
% ! ! * % ! %
90 . ,
% !
!
511 2 5 1 , 2
5 /2 35 !

-109-



( "($00$ * ( 1& W(C u5* * (+ O$

% # # #(( % #! TH #& (
!
! e ( .3 1 %
! |
| | | |
8) %4&!  -& ' B "OhH 9 &*
8
| : HR2
/- , /
' ! % ( [
( % ) |
%
! ! / .
# # #(( % # ! "y #& (
, ! :
(HR-1) ! (HR-2).
% 70% % !
. ! 20%
! ' ! 220 %

( "(300% * ( '& %( %5* * (+ O$

&%& - " g -) & #$% % >% ) *& e
)& #E( ) &
) % HR1 HR2.
" 3-2# , | '
. 9 | "& |
! .
& ,/'"$ | *# 9 |
"& | |
3-2# ! " Sl 9
l'& | | ] 8 | |
! !
& $*; &
) %  #1/$1 !
| % |

!

-&
% HR2 ( / 8 |
! |

3 &, # $&( & ik )

| ' % /



1
"l
1 |
t( (
( -8
( .3
9
5 # | &' % - ? , % %
' #
;! :
% %
% |
!
5 35 5 :
) &# % I$ &! - - $
. $ ! (
. () o —4—
(+O%5$*+%: !
!
1/4
% % .
& - 1) : - —#$ () H#'%
# ($ o #( ( #& ", 1"9&(!
-#" %# =%* .

-21-



—-# %

%

35

%

Y

35

10

%

%

1/4

Va

35

-22-



WC + *$& (

(S -

+$*

+ $

’ % ( ( ’ ’
( L& !
%
31 0 /
&'- * % + 'l 1 ) %
2. # ! !
%
!
3. .3 N
% .
4, | | ! %
|
3 - 1 l! _
4 #) * " # $%& % ( .8
! (
3 - % 'l -#& «" ( »,
[
& # &t 1. *
0, -0
$ & % -%& «LS»,
2. %
«LS»,
3 1 "#%$% "'& & ( .0
%#'& 10 %(/ , 6% ! %
#$ "9 | )
Yo #' %
)
% 220 ,507 .
3 - $&II #I )
& HE& 1S && . «(
- )# ’ i |& », K« ».
-+ # %+ I #&
$ && % (" #
! ) # (I [ «. » .4
%+ 'l ( & '%&* ) !
n —_— 1 | I
%+ (=~ & ! N 4)

-23-




# 4"V

O— WWW R

) &# %

1)
2)

2o W

3) 3

1/

1))

«;

2) &

1)
2)

3) 8)%4&&

% &# %&
!
% Start Fast ( )
. % Start Fast,
«, » (Factory settings) , % "&
! (Metric) (English)
). ( % ' "&
( ' ) 08 [/ "&
( ' ) 200 [/ "&
7 ( ' ) 15 "&
#1/$1 ! . ' !
!
&% '%H'&
!
%
% (%
( ). & ! %
I I %
% : ! !
( ! (
2
% #1/$1 |, #1" "&
» ( ' ! « »).) % "&
% L& (
% #1" (
% &= -) %
"8 -
-19&*  #$&( - ! : ( !
] 1
$&( _)! -
! , 5
P& & ( '
"& &4 &(# & - ( &'%! && (#& %! )
 # o + -/ |
Y% * ‘& =" 1
« ». & %
) ! ( #1/$1
).

-24-



no
S
=
=
o
N
N
~
o
O
S
S

-25-



0 (%S%*"" 1 1%0%*

olo|~N|o || w (N~
T

%

22 ; %

(B)( )

29 %

31 %

32 , %

33 , %

34 , %

36-7 Cons)

36-10 , %

36-11 , %

37 . %

38 25 x 50

%

ANINIRIRIRIRRRRRRIRIRIRIRRRRINNESRIRRRRINRANRRRRRRRINR R R R

-26-




39 ) % 2
40 $ 4
41 @10 x @25 x 0.8T % 2
42 @ % 6
43 % 1
44 . % 1
45 ) 2
47 @18 x @19 x 41L 0O 2
48 M8 x 1.25 x 12 % 2
49 3/8"-16 x 25L % 4
51 @8.5 x 20 x 3.0T % 2
52 M10 x 65L % 1
53 M10 x 50L % 1
54 @10 x15T $ % 6
55 @10 x @19 x 1.5T % 3
56 M10 ? 2
57 3/8"-16 x 1-1/2" 0 5
58 3/8"x165%x2.0%x4H $ % 17
59 @3/8" x 25 x 2T % 29
60 M8 x 1.25 x 40L 0 6
61 @8 x 15T $ % 6
62 @8 x16 x 1T % 14
63 M8 x 1.25 x 110L 0 8
64 M8 x 1.25 x 6.5T ? 8
65 M8 x 1.25 x 55L 0 6
66 M10 x 1.5x40L 0 1
67 M10 x 1.5x80L 0 1
68 M10 x 1.5 x 100L O 2
71 M3 x 35L 6
72 M3 ? 6
73 M5 x 12L 24
74 M5 ? 2
75 3.5 x12L : 2
76 M3 x 20L # 4
77 M5 x 12L 21
78 M5 x 12L : 12
83 X 1
84 1
85 ( 1
86 (G) (' ) 400 1
87 (A ( ) 2000 1
88 ! (E B (" ) 500 1
89 1
90 ' 2
92 & ! 1300 1
93 X 1
96 : 1
97 450 1

-27-




98 450 ! 1
104 3/8"-16 x 3-3/4" 0 6
105 3/8"-16 x 3/4" 0O 6
108 M8 x 1.25 x 12L 0 6
110 M5 x 10L 2
112 M5 x 30L 2
113 ) 1
114 8 L- % ! 1
117 M3.5 x 12L Sheet Metal Screw 26
119 M5 $ % 12
120 (C) (# ) 600 1
121 . (H) 470 1
122 & ! (D) ( ) 1
125 M5 % - | 4
131 M8 x 1.25 x 35L 0 2
132 3.5x8L % 4
134 @10 x @24 x 3T % 2
135 M3 x 15L 4
136 3/8"-16 x 2" % 1
137 3/8" L- % ! 1
138 M 1
139 L- ! 1
142 1
143 & 1
144 . 2
145 6P, 1
146 3/8" x 7T ? 4
147 ( 5
148 % 9
149 1
150 ( 12
153 # (! 1
154 # ( 1
159 300 ( 1
160 300 (! 1
162 ! 1
163 # ( 1
164 # (! 1

-28-




